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5.3 Solving Trigonometric Equations

Solving Trigonometric Equations

‘{Isolate trig function. Factor or apply other quadrati -ategies first, if
necessary. Make use of fundamental tri etric identities as needed.

¢ Depending on the peri rig function, identify all§olutions on the
mtena{) [0,7). =~ §/N (0{ csc,sec ,ta,\ (0‘)-
% State thé'genel i !

which accounts for ALL/ solutions).
V% List all solutions on interval [0, 27).
e Check your solutions!!!

Example #1 CosAJ-1=0 dA-1=0
RcosX = |
Cosx= '/2.

Feneral $dlution: X= j’rﬂn’r x> %T*Qnﬂ'

LSt of solvtions o CO,27) - ”Ib 5T
)

Example #2 3tan’ x—1=0
Stonx =1
400X @l '/5J___
f& N X = \’6

-+ G
tan x=t%

[reners\ solution: % T
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Example #3 2sin’ x+3sinx+1=0 2521—35 11=0
(Rsmx+ \y(sinx + | > =0
L Sinx+[=0 Sinx+1 =0
SinX =" h Sinx=-l
Geners| “%‘“+’lnﬂ> \%*2”'“ 2%l
List: 70 m 3
é\ b /?/
Example #4 csex—2=0
(Sex=2
SinX= /2
Generel: f%—(-ZVﬁT, ég\—r%fll\
Listk: T o
vy b
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Example #5 2¢cos’x—1=0

2¢08'x = |
cosix= 'z

CoSX='h=2 fi

Gf/ﬁ@f‘&\ ["‘ZV\N QDL.‘|1'?"\I Cp’lj‘*zhﬂlfw”
List> T 2p o T

L‘) —:‘_) Y | L.I
Example #6 secxyescy—2csex=0 SC" 2(_’; O
cscx(secx-2)=0
Cscx=0 Secx =2

SLax=ynd CoSX = '/2
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Example #7 2sec’ x —3 =0

o?fe(lX -5:

Scectx-¢[ =0
35ectx =4
JeC X = )3
cos*x =[ 3/
G : fr
(0SX =

(T
Fenecel: * N, I/V—‘b?nﬂ’

List j_]_“?_’qqur |7
L) b) &)

O

T o -
%—ezﬂ”)

%ﬁ{lv\ﬂ_

Example #8 ( cosx-&-?:éin x)z COS X4 | =S | '\)(

(C05x+ Xcosx+1)

oS’ Yosx + | - §in'x
Cos % +2cosxt|= f- cosix
+COS >( \ fCDS?)(

2cos?x +2cosx =0
A05X(cosx+1)=0

COsx=0

entrol M> q+InTT
T

Ly st

Acosx=0  Cosrt\=0  rpsx--|
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